Exhibit A
Funding Calculations Using a Hypothetical Example

Example: Three jurisdictions (A, B, and C) are participating. A total of 10 vouchers are issued for the
year: 4 are issued to businesses in A, 6 to businesses in B, and 0 to businesses in C. 4 of the
employees hired by these businesses reside in Jurisdiction A, 1 in Jurisdiction B, 4 in Jurisdiction C,
and 1 lives outside of the three jurisdictions. The population of Jurisdiction A is 10,000, the
population of Jurisdiction B is 80,000, and the population of Jurisdiction C is 35,000, with 2,000 living
in Group Quarters.

Calculation of Percentage of Total Shares

Employer

Jurisdiction A Jurisdiction B Jurisdiction C
Business Shares 4 6 0
Employee

Jurisdiction A Jurisdiction B Jurisdiction C
Resident Shares 4 1 4
Total Shares 8 7 4
Percentage of Total Shares 42.11% 36.84% 21.05%

Calculation of Total Contribution

Jurisdiction A

Jurisdiction B

Jurisdiction C

Population 10,000 80,000 35,000
Group Quarters - - 2,000
Total Population 10,000 80,000 33,000
Jurisdictional Contributions $5,000.00 $40,000.00 $16,500.00
Total Jurisdictional Contribution $61,500.00

Total Regional Contribution $61,500.00

Percentage of Total Shares 42.11% 36.84% 21.05%
Regional Contributions $25,894.74 $22,657.89 $12,947.37
Total Contribution (Unrounded) $30,894.74 $62,657.89 $29,447.37

Total Contribution $30,900 $62,700 $29,400




